R R e e T

1
DRAWING MADE [N d.:m_u ANGLE PROJECTION ..w 9 <
THIS ﬂtai IS UNPUBL ISHED. _ RELEASED FOR PUBLICATION .19 - REVISIONS
I@ COPYRIGHT 18 BY AMP INCORPORATED. ALL INTERNATIONAL RIGNTS AESERVED. 16}BD} 39 plefzone | Lm ‘ DEICRIPTION oATE | APPD
1 | A | REDRAWN ON CAD | e | - |
L/ B | REVISED PER ECN BDS5388 ram | B
OPENING FOR CABLE {
(SEE DASH NO FOR DIAD Wmu
{ ]
=N m,
OHEHHD {
.I..l:/r % T .1
i N
l«—1 . 215 . 015—®e I
SIZE IDENTIFICATION
t ETTER MOLDED HERE —> - .570%.015
(SEE TABLE)
I , ~ CABLE CLAMP
u\\\\\\\\\|x>qmmm>r“ FLLAME RETARDANT THERMOPLASTIC o
FINISH: BRIGHT NICKEL OVER BRIGHT COPPER
c
#£4—40 FILLISTER HEAD
STEEL SCREW — MH_ =]t
2 HEX NUT, ZINC O 8 #4—-40 FILLISTER HEAD SCREW
REQD. b STEEL, ZINC PLATED, 2 REGD.
PLATED, 2 EACH REQGD " 910+.015 NWi\\
/AN = ;
N _ ¢
t | i V_H uf.u_ﬂ i
Hnu / \II 4 . .
1ls
3l o™
«——— . 984 ———» i
+B
NWV ALL PARTS PACKAGED UNASSEMBLED. A . 200 Y- 745854-5 745854-5
va c . 250 Y4\ 745854-4 745854-3
wa AS SHOWN ABOVE, THIS KIT CONSISTS OF 2 H - 370 7458542 7458541
STRAIN RELIEF HALVES, 2 #4-40 SCREWS, 2 #4-40 NUTS & REMARKS s1zE 10enT | casLe | BuiLk packep | INDIVIDUAL +—
2 #4-40 MOUNTING SCREWS. { FTTER DIA KIT NO KIT NO _
me SAME AS SHOWN, EXCEPT: EACH PART IS INDIVIDUALLY BULK
n»oxmo *”o“ﬂ xcrﬂ.thPm NH..“- O”Dmnm- DO Zo.ﬂ mﬂbrm gmzq- QN mlwmlg
UNLESS SPECIFIED J GALLUCCT B6 i AMFP INCORPORATED
DIMENSIONS IN INCHES CHK  6-10-90 Horeleburg, Pa. 17105
@ OBSOLETE TOLERANCES ON . J. McCL INTON
2 PLC DEC = - ]
3 PLC DEC = ,005 APPD 9-10-890 NAME
ANGLES + - J. HESTMAN
MATERTAL APPD 9-11-80 CABLE CLAMP KIT, SIZE 1, S POSN, A
SEE CALLOUT SRODUET SPEC 180°, PLATED PLASTIC,
_ AMPL IMITE™
FINISH APPL ICATION SPEC SIZE FSCM NO DRANING NG
SEE CALLOUT - C| 00773 745854
WEIGHT _ SCALE 2.1 SREET 10F 1 .
ue s e s H i - CUSTOMER DRAWING

ANALE BsumE AT ari s

vl b

S AT P a @AY e L WEALY 1. A ATTOD

e e bmm M e— e mem me v e o mmm o— —e e A e e s L 4 i e WA AP S e A v wm e o

S e e e m e i e et mm o e e e ae e e e R T W W e ki ek e e el oMl e VIS WA AR L AL e s Wb EmE



